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LA & 1,052,280| 1,052,280 0
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13239 2,074,346 2,038,373 35,973
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1.k g 7,500 6,000 1,500 7 1EAPHAFALLLN 1 150,000€010 1,500,000
1=
37184 wess 2,460,857 2,460,857 0
1.0 g% 2,209,011/ 2,209,011 0
7.9% w3t 38,140 38,140 0
1. ol & mtes 38,140 38,140 0
1. 05890 28,140 8,140/  20,000| o431 &% : 20,000,0009*1%4]= 20,000,000
2.8+ G0 B 10,000 30,000| -20,000|dl&FASE  -20,000,000«14]= -20,000,000
10. 4% g5 2,141,565| 2,141,565 0
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3 EAn 0 10,000,0008] 14)= 10,000,000
4.989% w5 1,016,700| 859,970| 156,730
1. %3530 9 379,600 317,200 62,400
1.4 753kl g- 379,600| 317,200 62,400
3.5 tal g A A( = HH 62,400 0 62,400
1.7]ebp 62,400 0| 62,400 (A HA) A 1 31,200,0009+23]= 62,400,000
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1.9% 6,300 0 6,300 (B H)=E A 0 300,0009 #43]= 1,200,000
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}\]Zl—:
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2,000,000
3] A AF AZ 2,000,000 %13]=
IR AFT AL An 2 2 A5 2,500,000
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*]12]=
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27.20239 A H AASE AL, 08DY 0 3,000
1.°]E7-4H| 3,000 0 3,000 A 2<% olUTY 1 500,000 #27H= 1,000,000
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28.20239 ABAAwE AR 2pglapo 0 26,000
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1.71el3 9,100 0 9,100 $ohg ZRIAFORFAAR) 35,0009 9,100,000
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2. k8] 3,000 0 3,000 FREFE 4 2 A% ¢ 30,00090%10070= 3,000,000
o] sl 4= BIIALR) : 2]
3.995% 7,800 0 7,800 1 AOIHAF(ERAARE) - 60,00091%13 7,800,000
104 7=
H}3l S I 20 (A 2= H .
4585 v) 4,300 0 4,500 T EEABEATAZD 2,106,000 2,106,000
Ax13]=
Agureks] 0 (YR 600,000 #2TH)+H(2]H]
8,000 %709 )+(7H2]\] 3,00091x70 )= 1,970,000
Z1dolslA=(nLAn]) © 1,0009%224A= 224,000
5. 5 A ALY Y FF31H] 1,800 0 1,800 @93 & : 30,0009 %108 %63]= 1,800,000
5. 0585 A9 2,645,103 | 2,635,103 10,000
1.0 156,640 146,640 10,000
1. 5388 156,640| 146,640 10,000
1. -3 A2 156,640 146,640 10,000
1. 352170 132,200 122,200 10,000 | mLF-2 FAF B2 0 10,000,000 +14]= 10,000,000
6.3t Auke-of 1,870,181/ 1,820,356 49,825
1.8u718 &9 311,141 283,316 27,825
1.3A 71 22 311,141 283,316 27,825
1. g ykay g A2 145,994| 118,169 27,825
1. 9uk=gn) 117,234 89,409 27,825 |14 ARE T 1 500,000912]= 500,000
TELYEE 1 15,325,0009x12]= 15,325,000
SYE WA BA : 2
ZYE WA EA] EY ¢ 10,000,000 10,000,000
*1/}}:
] 1 2,000,000 %14]= 2,000,000
2. A4 ZH) §A 1,556,590 1,534,590 22,000
1.3Fa A A ] 64 1,556,590 1,534,590 22,000
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3. AR A ] (AR H]) 749,620 727,620 22,000
S A 3| o) R
2. N8 1) 559,360 537,360 22,000 ijf“ HAHAREE) R - 22,000,000 22,000,000
2=
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